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{ Practice Set 15.3 }

A
1. In [ | ABCD, I(AB) = 13 cm,
[(DC) = 9 cm, /[(AD) = 8 cm,
find the area of [ | ABCD. -~
D C
S_om:— L AB)= (Bcm
L (D)= I cem
L (AD)= 8 um
A(O ABW) =19
( ‘Sb\ﬂﬂ O'F )
A(0 ABD) = & x| poralie | * height
s\d es
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= _jl x ( AB+Dc) x AD
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2.  Length of the two parallel sides of a trapezium are 8.5 cm and 11.5 cm

respectively and its height is 4.2 cm, find its area.

So1ns- Hexe,
'I-5 cm
B L(pPB)= I|I.E cm
b9
cm L (cd)= B-SEecm
D_I C
2:5 cm L (AD) = 4.2 em
ACOABCD) = ¢
( '50\’5'3 O'F .
A(O ABeD) = o x| poralied | * height
s\des

—

= —é- x ( A8+pc) x AD
= Lax<u-5+ 2-5) X 4.2
)
= ._Lx X 4L.2
e
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= ‘OX‘TZ

A(DPBD) = 40 cm?




3*. [] PQRSis an isosceles trapezium p 7

. Q
[(PQ) = 7 cm. seg PM L seg SR, ! |
[(SM) = 3 cm, §4 L :
Distance between two parallel l :
sides 1s 4 cm, find the area of S 3 I\I/I—I 7 ;:Il 3 R
[ ] PORS
Sol”:-  As D PQRSL s an 1s0Scales
\‘:fapezium,
QQ@ Ps N Seg RR
Noo,  Draw seg eN 4+ S SR
Noo , rPmMs & pn QNR  ave congyuent
tvaongle
SQJ NR = 3 om
Now,

i(Qed ap) = & (563 sm) + £( seg MN)

+ L ( ¢eg NR)

)

3 + 7 + 3

I3 cm
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A (D PQ&@ = 4O cm




